Deviation [sigma] Deviation [sigmal] Flux [10° erg/s/cm’]

Deviation [sigma]

100

10

20

10

20

10

20

10

4U 1728-34 |/ MJID 51949.12602 / burstid=2706

Grey line: exponential fit

= Black line: power law + gauss fit =
- Dashed line: power law .
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; Exponential fit é
= Expon.time: 10.92+/- 0.11 s (chi*-red= 72.07) =
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; Power law fit é
= Power law index: -2.234+/-0.046 (chi*-red= 9.38) 3
g m + ++ —+ — — ; g
S —t = T
- iy s
- i E
i e \ i
— Power law fit plus Gaussian (st.dev.= 113.85+/- 11.22s, fracgs= 0.05+/- 0.01) =
- Power law index: -2.567+/-0.050 (chi*-red= 2.82) 3
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